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%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A 120 m long train crosses signal post in 20 seconds, after crossing the signal
post the train cross the bridge in 60 seconds. Find the length of the bridge.

Ud 120 HITR Tdl ¢ RFd URE Bl 20 b H UR Bl 5, RIUd URE Bl UR A
P d1G ¢ 60 b H Ud Pl UR Bl gl Gd DI adls J1d Dol |

a) 360 m
b) 240 m

C) 480m

d) 400m




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

In 144 litres pure milk, 16 liters of milk is replaced by water and if this process is
repeated two more times, then find the quantity of milk in the final mixture.

144 Tiex TG g8 U, 16 e g8 DI UMl I UidwiIad &R a1 Srdl g 3R af 59
Uichd B &l IR 3R gl SIIdl g, dl SifdH 580 § g8 @&l A& 1d S|

a) 101
b) 10113

C) 205.03

d) 137




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

If the radius of the base of a right circular cylinder is increased by 20% and the
height is decreased by 30%, then what is the percentage increase/decrease in
the volume?

qfc, Ush ot guiid o & TR DI AT H 20% DI 9l @I Sildl g 3R 3Hdls |
30% DI HH! DI Sl o, dl A H WA= dla/mHl H1 52

a) 8%

b) 10%
C) 15%
d) os%




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Chair when sold at 20% discount makes seller earns profit of 30%. If chair is
sold at 10% discount, what will be the new profit percent?

Udh B4l Pl old 20% ¢ UR &1 STl @, <l [ddhdl 30% BT Y 3Afold Hdl gl af
HAUl 10% §e GR 941 Srdl g, ) 741 a1y ufa=rd o1 gim?

| o (KA
P a) 50%

b) 25.57%

C) 46.25%

d) 56.5%




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Grams costing Rs. 25 per kg is mixed with another type of grams costing Rs. 35
per kg. In what ratio should the two types of Grams be mixed so that 15% profit
is earned with the selling price of mixture being Rs. 30 per kg.

25 302 Ufd {H A &I drTd did - Bl 8RR YhR & 9 & qr {7igd fbdr S
g, IS gl ArTd 35 ¥ Ufd fhalud g1 alFl UbR & 941 Dl [ 3urd H el
d1ie T, fob [F%01 o1 f[dehd Y 30 394 Uid fh i g4 R 15% ol a1 Hfoid gl

a) 23:3
b)41:5
C) 43 :7
d) 31:9




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Twenty five workers were employed to complete a wall in 12 days. Five workers
left the work after working of 5 days. By what percent of each of remaining 20
workers should increase their efficiencies to complete the work in given time?

U AR Bl 12 {1 H U1 3 & forg v 4feyepl ol avmar wa o 5 {1 o
B b d1G Ui Holgr DRI DI od g | 4T T g9 H DRI GRT HA & (el [N 20
YIS H G ISP @l -1 &Hdr H faba Uia=id @t gfg &A1 a1igu?

d ) 20 percent

b ) 30 percent

C) 25 percent

d ) 18 percent




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Rohit borrowed Rs. 18000 from Rashmi for 2 years at simple interest of rate
15%. Ronhit lent this sum to Raunak at the same rate for the same time but at

compound interest. Find the profit earned by Rohit in this transaction.

Jfed = I I JreRu Ao TR 2 98 & folU 15% o 23 I 18000 $UU IYR o]

=

Afed = T8 AR AP DI FHH &R IR JHH JHY & (0T b1 Iohdls STl UR
YR (&A1l 39 d4-a-1 | ATed gRI Sifod A4 31d iford |

) ) Rs. 400

b) Rs. 405

C) Rs. 410

d) Rs.415




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

If the diameter of a circle increases by 15%, then what will be the percentage
iIncrease in its area?

Tfe U ad & AN H 15% 1 dls gldl 8, dl 3D &A%hd H Uid=Id dla 1 grir?

a) 35.755%

b) 30.3%
C) 25%
d) 32259,




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Mohit goes to his office at the speed of 10 m/s and returns to his home at the
speed of x km/hr. If the average speed of Mohit for the whole journey is 12 m/s

then what is the value of x?

Aifgd 10 HieyAd s B 1fd I 394 HEay Sdl © 3R x fhdiee ot afd 9 3=
eR diedl o | afd O3t a1 & aRME Hifgd I S d Tfd 12 Hie/™a s g, dl x &1 J1H
87

a) 25 km/hr
b) 15 kminr
C) 36 km/hr

d ) 54 km/hr




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

IfA:B=7:8andB:C=7:9,thenwhatistheratioof A:B:C ?

qfdA:B=7:83RB:C=7:9 dlA:B:C &I 3JUld &I g?
=

s

) 56:49:72
b) 49 : 56 : 72
C) 56 : 72 : 49

d)72:56:49




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A alone can complete a work in 14 days and B alone can complete the same
work in 21 days. A and B start the work together but A leaves the work after 4
days of the starting of work. In how many days B will complete the remaining
work?

A 3 Ub B Dl 14 [& T U DR Fobdl g SR B 3fbel 39 dI @l 21 faa d
ORT R Jhdl 6 | A 3R B [HADR B BRAT Y DR © didd AP IF - & 4
[¢H 916 I BISHR Il Sl g | B 3fdhdl Y HI Bl fbd- G H U1 HAM?

a) O days
b) 16 days

C) 12 days

d) 11 days




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The marked price of a chair and a table are in the ratio 2 : 3 respectively. The

shopkeeper gives a 20% discount on the chair. If the combined discount on both

the chair and the table is 26%, then what will be the discount given on the

table?

U Hl 3R U oqd DI 3ifchd eI HHA: 2 : 3 F Ul H & | SHHCR Hal 1R

20% P Fe odl g | afc Pl R A Sl IR Fgad J¢ 26% @, dl Hol W &l T3 3¢
[?

1 gl

a) 34%
b) 32%
C) 30%
d) 28%




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

In a Company, the number of engineers doubles itself every 2 years. In how
much time will the number of engineers become 1024 times of its original
number?

Uh hU-il H, SOlll-TRI &I I Udd 2 94 H GRIHI 81 Sl g | fba 999 |
SOllTTRT T T Y- el AT DI 1024 AT B SIMTHN?

a) 12 years

b) 20 years

C) 15 years

d) 24 years




